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Practice Test: Solving Equations I MFM2P

1) Inthe scale diagram at the right, each bag contains the
same number of candies.

a) Create an equation that models the scale diagram,

where “x” is the number of candies in each bag.

Equation: [l o+ % = Lx &+ 3 |
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b) Determine the number of candies in one bag any way you'd like, but justify your answer.
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2) Solve the following two-step equations using the balancing method:

a) 2x + 10 = 40 b) 0.2x + 0.7 = 2.1
=10 ~10 C=a =03
0.4 x i_'_;i
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c) 15 = 4x — 25 d) 180 = 39 + 3x
425 +1G s34 3%
. It = 3%
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3) Solve the following problems that involve the distributive law:

a)2(x—4)=-10 b) 3(x +4) = 2x+7)
Axe ¥5 10 3x 4+ 12 = Axy |4
f5 ok B B

X +12 =14
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4) Solve the followmg problems that involve the fractions:

é 3=22 S

o

\ K= 1AS |

5) Solve the foIIo;wing equations, and check your answer!

|
|

T8 +Ax=1\3S5
=S =13
2 % eo

S

z S

=

Equation:
9% —41=3x-11
’3'% -4

Solution: Am I right?

ox ~ | = -] Doos 9(5)-xl=3(s)-1]¢

¥ + 4 Hg -] = |5~ 1)
by = 3C H o=y
=5 | /
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Equation: 4
1
l Ex —S5=x- 1%

Solution: Am [ right?
?_,;;F\U 13: s Does & (16) - 5= 1010
tx»_\o :v—io | E=8 =0
+ e + L0 &
. ;_._Y: . /
X = 10

6) For the solution below, circle the specific mistake made and explain in point form what is wrong.

2x=1=13 asv\ MOS T USE ‘\’P/\% 0%909"\‘6

(divide each side by 2)
x=6

7) For the solution below, circle the specific mistake made and explain in point form what is wrong.

S5x+2 =22

-2 -2

x =15
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8) Solve the following equation by using the distributive law, collecting like terms, and then using
opposite operations.

A~ N Pl
2(x+3)+4x—3(x+6)—

'f‘f*@/ gfx@/( By

bx +(o‘3x+lz

'Sx i Fb)(

3 4 é = 12
-6 -G

3x=b

9) Whensoelving-equations with fractions we saw that it was important to be able to find a LCM to clear the
fractions. ‘

a) Find the LCM (least common multiple) of the numbers 2, 3, and 4. Hint... use multiplication. 2 % 3y Y=Y

|
b) Solve the equatlon 9\%( + +1== + 3\ ( VL s (Tm& ‘h:ux

L(‘i}v@x F2 = [Ax v ()
Wy 2t = x+ 72
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Ly + 24 = 12
24 -2y
Ax = H§
T T2

e



Practice Test: Solving Equations l MEM2P
|

10) Mr. Smith and his friend are comparing how many wins they have in

one of their favourite games: Hearthstone.

Mr. Smith: Has 400 wins, and wins 5 games every day.

Friend: Has 520 wins, and wins 2 games every day.

Here is an equation that models Mr. Smith’s wins: W = 400 + 5d

a) Can you make an equation that models his'friend’swintotal? W = 520 + 2 (Q

b) How many wins will each person have in 25 days?

Mr. Smith:

W = 400 & g(oj\

W = SQ\S WA Y

c) Solve the following equation: 400 + 5d = 520 + 2d

Friend:

W= 520+ 2(2%

R

W = 5—70 win .

= 28 -28 |
{00 + 24 = g 2.4
-~ L vo - Yov
2 . ho

d) How many days will it take until they have
the same amount of wins?

L& 0 &aé%

e) How many wins do they each have on this
day? (Hint: sub your answer from d) into one of
your equations)

W = H00 + 5(46\ = 600 way
o W= 520+ l('—‘ob = 6O0 wins.
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On your unit test, | will be given you a mixture of level 3 problems to try, and | will mark you with a level.

The following questions are a good representation of what you might see.
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d) 3(x+4)+5(x—-3) =
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